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1. X}xfH|

A B2 BIE /Y THAl/G140 @140 x 700 x 2t(@250 x 4t) ea 87,000 |27} & 202214 032 273p
A El2 12/ FHAl /G140 @140 x 900 x 2t(@250 x 41) ea 91,500 |2 718 & 202214 03Y 273p
A B2 B E /U FHAl/G140 @140 x 1100 x 2t(@250 x 4t) ea 94,500 |2 715 & 202214 03Y 273p
AEZte /YTt @140 x 1200 x 2t(@250 x 41) ea 99,000 |2 7F& & 202214 03Y 273p
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0.1538 0l 187,435 28,828 28,828 | S AP E 20224 p.218
0.0769 ol 148,510 11,420 11,420 (S A E 202214 p.218
L 2H|9| 5% 5 % 40,248 2,012 2,012 |ZEHLPEE 202214 p.218
- 40,248 2,012 42,260
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3 At H| B 7 ()
35 4 2k CHe| X 2H]| 2| ZH| [
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EH7t = CHot =R CHot =R

1. XpxjH|
AEIZ3LE /9 FHAl /G140 @140 x 700 x 2t(@250 x 4t) 1 ea 87,000 87,000 87,000
[ A1 87,000 - - 87,000
2. MX|H|
Z22tE MK 1 ea 40,248 40,248 2,012 2,012 42,260
ZHRFRAH| =X =ZH|o 5% 5 % 87,000 4,350 4,350
[& A 4,350 40,248 2,012 46,610
(g 41 91,350 40,248 2,012 133,610
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3 At H| B 7 ()
35 4 2k CHe| X 2H]| 2| ZH| [
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EH7t = CHot =R CHot =R

1. XpxjH|
AEIZ3LE /9 FHAl /G140 @140 x 900 x 2t(@250 x 4t) 1 ea 91,500 91,500 91,500
[ A1 91,500 - - 91,500
2. MX|H|
Z22tE MK 1 ea 40,248 40,248 2,012 2,012 42,260
ZHRFRAH| =X =ZH|o 5% 5 % 91,500 4,575 4,575
[& A 4,575 40,248 2,012 46,835
(g 41 96,075 40,248 2,012 138,335
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EH7t FH CHot =R CHot =R

1. XFxyH|
AEIZ3LE /9 FHAl /G140 @140 x 1100 x 2t(@250 x 4t) 1 ea 94,500 94,500 94,500
[ A1 94,500 - - 94,500
2. ™x|H|
231 MK 1 ea 40,248 40,248 2,012 2,012 42,260
ZEXFAH]| =2 H| 2| 5% 5 % 94,500 4,725 4,725
[& A 4,725 40,248 2,012 46,985
(g 41 99,225 40,248 2,012 141,485
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3 At H| B 7 ()
35 4 2k oo X 2H]| 2| ZH| [
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EH7t = CHot =R CHot =R

1. XpxjH|
AEIZ3LE /9 FHAl /G140 @140 x 1200 x 2t(@250 x 4t) 1 ea 99,000 99,000 99,000
[ A1 99,000 - - 99,000
2. MX|H|
Z22tE MK 1 ea 40,248 40,248 2,012 2,012 42,260
ZHRFRAH| =X =ZH|o 5% 5 % 99,000 4,950 4,950
[& A 4,950 40,248 2,012 47,210
(g 41 103,950 40,248 2,012 146,210




